## **Solicitation Information**

## City of Gahanna, OH

**Solicitation Number** 

Streetlight Maintenance

**Deadline** 

10/26/2018 11:00 AM EDT

**Advertised** 

10/11/2018 09:06 AM EDT

Description

Streetlight Maintenance Contract

## **Bidders**

Business Name	Address	Phone
Asplundh Construction, LLC	481 Schrock Road Columbus, OH 43229	(614) 580-0681
Jess Howard Electric Company	6630 Taylor Road Blacklick, OH 43004	(614) 861-1300
Settle-Muter Electric		
3 Bidders		

Item	Quantity	Jess Howard Elec Price	tric Company Extension	Quantity	Settle-Mut Price	er Electric Extension	
BID FORM (SERVICES)							
1.0 1.0 Electrician	1.00	\$61.00	\$61.00	1.00	\$65.00	\$65.00	
2.0 2.0 Laborer	1.00	\$54.00	\$54.00	1.00	\$55.00	\$55.00	
3.0 3.0 Technician, Bench	1.00	\$54.00	\$54.00	1.00	\$55.00	\$55.00	
4.0 4.0 Backhoe	1.00	\$31.00	\$31.00	1.00	\$85.00	\$85.00	
5.0 5.0 Bucket Truck (see Supplemental Specifications f	1.00	\$26.00	\$26.00	1.00	\$85.00	\$85.00	
6.0 6.0 Cable Tracer	1.00	\$16.00	\$16.00	1.00	\$150.00	\$150.00	
7.0 7.0 Digger Truck	1.00	\$42.00	\$42.00	1.00	\$100.00	\$100.00	
8.0 8.0 Platform Truck	1.00	\$26.00	\$26.00	1.00	\$10.00	\$10.00	
9.0 9.0 Service Pickup, Truck or Van	1.00	\$21.00	\$21.00	1.00	\$5.00	\$5.00	
10.0 10.0 Trencher	1.00	\$16.00	\$16.00	1.00	\$85.00	\$85.00	
10 Items	Totals:						

Item	Quantity	Asplundh Constr Price	uction, LLC Extension					
BID FORM (SERVICES)								
1.0 1.0 Electrician	1.00	\$93.10	\$93.10					
2.0 2.0 Laborer	1.00	\$72.45	\$72.45					
3.0 3.0 Technician, Bench	1.00	\$93.10	\$93.10					
4.0 4.0 Backhoe	1.00	\$36.25	\$36.25					
5.0 5.0 Bucket Truck (see Supplemental Specifications f	1.00	\$37.50	\$37.50					
6.0 6.0 Cable Tracer	1.00	\$10.00	\$10.00					
7.0 7.0 Digger Truck	1.00	\$37.50	\$37.50					
8.0 8.0 Platform Truck	1.00	\$37.50	\$37.50					
9.0 9.0 Service Pickup, Truck or Van	1.00	\$25.00	\$25.00					
10.0 10.0 Trencher	1.00	\$31.50	\$31.50					
10 Items	Totals:							